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Question # 1 of 10 ( Start time: 05:05:13 PM, 08 February 2021 )

MTH301:Quiz#3

If the integration is carried out along the path of a particular curve, such an integraliscalled . ... .

Download More Quizzes Files From

Select the correct option

Indefinite integral.

® VUANnswer.com

Line integral.

Volume integral.

Surface integral.
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Question # 2 of 10 ( Start time: 05:05:39 PM, 08 February 2021 )

The differential dz of the function
2=z + y2
is

selectthe comrectoption D OWNIlOAd More Quizzes Files From

O VUAnswer.com dz =2z + 2y

dz = 2zdx + 2ydy

b _d

dz = (2z + 2y)dz

O

dz = 2dx + 2dy

O
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MTH301:Quiz#3 CGuiz Start Time: 05:05

Question # 3 of 10 ( Start time: 05:06:02 PM, 08 February 2021 )
Integration along two separate paths joining the same two end points does not necessarily give identical results.

Select the correct option
False

O

True

Click to Save Answer & Move
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MTH301:Quiz#3 Quiz Start Time: 05:0¢

Question # 4 of 10 ( Start time: 05:06:23 PM, 08 February 2021 )

The div operator V acts on a(an) and gives a scalar.
Seloot the correct option Download More Quizzes Files From -~
O VUAnswer.com scalar
— vector

unit vector

constant

O
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Question # 5 of 10 ( Start time: 05:06:42 PM, 08 February 2021 )
The path of integration of a line integral must be ——— =

Select the correct option

straight and single-valued

continuous and single-valued

straight and multi-valued

continuous and multi-valued

Clickto S
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MTH301:Quiz#3 Quiz Start Time: 05:05 PM, 0

Question # 6 of 10 ( Start time: 05:07:05 PM, 08 February 2021 )

If a V(r) exists for all points on the curve, then Z V(r)dr, with dr — 0 defines
p=1
il 1= - i 1 "~ Tr - - - i 1 f Trd % 7T

Select the correct option ® Reload

vector field

scalar field

vector quantity

vector space

Click to Save Answer & Move to N
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MTH301:Quiz#3

Question # 7 of 10 ( Start time: 05:07:29 PM, 08 February 2021 )

S 58 LAl S0 gt Js

Quiz Start Time: 05:05 |

Select the correct option

Wallis sine formula when n is even

mw

2
[ Sin"zdr =

n o n—2 n—4 n—=~6 E E E
O 2 2 2 2 75 3
n—1 n—1 n—1 n-—1 E E 1
O 2 2 2 2 6 4
n—1 n—3 n—5 n—7T 5 3 1
- ( .z - .- . ...
- n n—2 n—4 n—=6 6 4
n—1 n—3 n—-5 n-—-7T E E E
O n n—2 n—4 n—=~6 7T 5 3

Click to Save Answer & Move
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MTH301:Quiz#3 Quiz Start Time: 05:00 PM,

Question # 8 of 10 ( Start time: 05:07:51 PM, 08 February 2021 )

FF=Fi+Fhj+FRkanddr=dri+dyj+dzk Then, F.dr =

Download More Quizzes Files From

Select the correct option ® Reload

VUAnswer.com. . ., . . .
O (a) F1z'+sz—I—ng).(d;ri—I—dyj—l—dzk)
O (b) .;[ (Fy dz + By dy + F d=)
o (c) (F1%+F23+F33},)
& (d) Both (a) and (b).

Click to Save Answer & Move to
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MTH301:Quiz#3 Quiz Start Time

Question # 9 of 10 ( Start time: 05:08:17 PM, 08 February 2021 )

For exact differential equation of this form Pdzx + Qdy = 0, ———

Select the correct option

9P, 0Q

O dy dx

— or _ 9Q
ady dx

oP 0Q

O Ay T dx
=0

or _9Q

O Ay dx
=0

Click to Save Answer
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MTH301:Quiz#3 Quiz Start

Question # 10 of 10 ( Start time: 05:08:40 PM, 08 February 2021 )

The differential equation dz = z®dx + y®dy isan exact differential equation.

Select the correct option

True

False
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MTH301:Quiz#3

Question # 1 of 10 ( Start time: 07:48:17 PM, 07 February 2021)

Evaluate f!nwdx -

Select the correct option

minm—%—l—c

zlnr — = + ¢

Inr —z+=x

In;t:—%—i—c
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MTH301:Quiz#3 Quiz Start Timr

Question # 2 of 10 ( Start time: 07:48:36 PM, 07 February 2021)

For a line integral, if the path of integration is parallel to y - axis i.e.y = k, dy = 0 then

Select the correct option

O / pdx =0

Click to Save Answe
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MTH301:Quiz#3 Quiz Start Time: 07:48 PI

Question # 3 of 10 ( Start time: 07:49:01 PM, 07 February 2021 )

If a scalar field V(r) exists for all points on the curve, the . ... ... .. with dr — 0,

defines the line integral of Vi.e, line integral = / Vir)dr

Select the correct option m
o0
O Y V(r)dr,
p=0

n

O Y V(r)dr,

p=0

O le V(r)dr,

0 Z V(r)dr,

p=1
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Question # 4 of 10 ( Start time: 07:49:28 PM, 07 February 2021)

MTH301:Quiz#3

Integration along two separate paths joining the same two end points——- give(s) identical results.

Download More Quizzes Files From

Select the correct option

Always

O VUANnswer.com

Partially

O

Necessarily

Does not necessarily
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MTH301:Quiz#3 CQluiz Start Time: 07:4

Question # 5 of 10 ( Start time: 07:49:50 PM, 07 February 2021)

For a line integral, if the path of integration is parallel to x - axis i.e.x = k, dx = 0 then

Download More Quizzes Files From

Select the correct option

VUANswer.com @ R
O I = fpd:r:

U

b
o
I

o —
S
=

O I,::de,x

Click to Save Answer & Mo
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MTH301:Quiz#3
Question # 6 of 10 ( Start time: 07:50:09 PM, 07 February 2021 )
The value of the integral i5 ———— independent of the path of integration taken.
Select the correct option
always

O

may or may not
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MTH301:Quiz#3

Question # 7 of 10 ( Start time: 07:50:27 PM, 07 February 2021)

The integration taken round a closed curve is ——- provided (Pdz + Qdy) is a(n) —— differential.

Select the correct option

one, exact

O

Zero, exact

e _Jd

one, thDQEHEDUE

O

£era, thDgEHEDUS

O
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MTH301:Quiz#3 Qui:
Question # 8 of 10 ( Start time: 07:51:02 PM, 07 February 2021 )
Wallis sine formula when n is even
3
[ Sin‘zdr =
Select the correct option
4 2
O 53
3 1
r— — = - —
17232
3.1
O 12
4 2 7
O 3 1 2
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MTH301:Quiz#3 Quiz Start Time: 07

Question # 9 of 10 ( Start time: 07:51:33 PM, 07 February 2021 )

If P=1+4zy and Q = 5z° then

Selectthe comectopion 1 y\wnload-More Quizzes Files From &
% — bz°
O VUAnNnswer.com oz
O %1; =1+4zx
OP  9Q

O S_y_é‘m

aP | 0Q
- dy dx

Click to Save Answer B Mq
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"MTH301 - Calculus IT
Quiz Start Time

MTH301:Quiz#3

Question # 10 of 10 ( Start ime: 07:52:03 PM, 07 February 2021 )
Ifﬂleini:egﬂra_lia::rfl:htaf::rr"mgS (Pdc+ Qdy) where P= —5x—yand Q = x — 2y then

Select the correct option

—ff (Z—i— agf)drd.}: —.gdmf}'

O

&P o
M (&5 o= -2l ao

0P 80
—ff(g—x—g*j)cmy:zgdmy

213

(L Lo~

Click to Save Answer
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"MTH301 - Calculus IT

MTH301:Quiz#3 Quiz Start

Question # 1 of 10 ( Start time: 07:54:12 PM, 07 February 2021 )
Line integral is used to calculate ——-

Select the correct option

force
O

area
O

volume
O

length
| |
L |

Click to Save Ans
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MTH301:Quiz#3 Quiz

Question # 2 of 10 ( Start time: 07:59:08 PM, 07 February 2021 )

Evaluate flﬂmd&: -

Select the correct option

xlnm—%—l—c

zinr —xr+c

lnr—z+=x

In;t‘.—%-l—c

O

Click to Sa
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MTH301:Quiz#3 Quiz Start Time: 07

Question # 3 of 10 ( Start time: 07:56:03 PM, 07 February 2021 )

If a V(r) exists for all points on the curve, then Z V(r) dr, with dr — 0 defines
=1
i1 1= - i a "~ Tr - 1= - i 1 r L A T |
Select the correct option E

vector field

O Download More Quizzes Files From

VUANnswer.com cealur field

e

vector quantity

O

vector space

O
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MTH301:Quiz#3 Quiz Start Time: 07:5

Question # 4 of 10 ( Start time: 07:56:23 PM, 07 February 2021 )

To evaluate the line integral, f V{(r) dr , the integrand is expressed in terms of =, y, z with dr =
C

Select the correct option m
O dx i

O d:r:%—l—dy}

= d;t:g—I—dy}—l—dzfc
b d

O \/d&ﬁg—l—dy}—l—dzf:

Click to Save Answer & Mo
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MTH301:Quiz#3 Quiz Start Time:

Question # 5 of 10 ( Start time: 07:56:42 PM, 07 February 2021 )

Wallis sine formula when n is odd

w

E]
f Sin'rdr =
Select the correct option I
6 4 2
@ [ L == =
- 7 5 3
7T 5 3 =

|
| o
b2 | o

~I| o

O

Click to Save Answer 8
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Question # 6 of 10 ( Start time: 07:57:05 PM, 07 February 2021)

"MTH301 - Calculus IT

SONU TLYAS |
MUGHAL
’

S 58 LAl S0 gt Js

Quiz Start Time

Select the correct option

The line integral of F(r). f F.dr, is a scalar because F.dr is a

&

scalar product

scalar field

vector product

O

vector field

03063548328 Sonu Ilyas Mughal
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MTH301:Quiz#3 Quiz Start

Question # 7 of 10 ( Start time: 07:57:26 PM, 07 February 2021 )

One of the line integral properties is / Pdz + Qdy = — / Pdzx + Qdy

AE BA
Select the correct option
True
O Download More Quizzes Files From
VUANnswer.com
False

Click to Save Ang
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"MTH301 - Calculus IT

MTH301:Quiz#3

Question # 8 of 10 ( Start time: 07:57:47 PM, 07 February 2021 )

The differential equation dz — z>dz + y>dy isan exact differential equation.

Select the correct option

True

False
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MTH301:Quiz#3 Quiz Start Time: 07:54 Ph

Question # 9 of 10 ( Start time: 07:58:14 PM, 07 February 2021)

If Pdx + Qdy + Rdw is an exact differential equation then / (Pdz + Qdy + Rdw) is of
C

the path of inteeration .

Select the correct option

dependent
independent
=
-

Click to Save Answer & Move ig
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MTH301:Quiz#3 Quiz St

Question # 10 of 10 ( Start time: 07:98:33 PM, 07 February 2021 )

Wallis sine formula when n is odd

m

2
[ Cos"zdx =

Select the correct option

O

b |
(X
(&
(&
H]'
=)
o

O n n—-2 n—-4 n—-6 6 4 2 2
— n—1 n-3 n-5 n-7 6 4 2
e n n—2 n—4 n—=~6 7T 5 3

Click to Save P
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"MTH301 - Calculus IT

MTH301:Quiz#3 Quiz Start Time: 0¢

Question # 1 of 10 ( Start ime: 08:11:42 PM, 07 February 2021 )

If the path of integration c joining A and B is divided into two parts AK and KB, then

Select the correct option E

I. =14k — IkB

O

—I. =14 + IkB

I.=—I4x — IxE

I. =14k + IkB

Click to Save Answer &
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"MTH301 - Calculus IT
MTH301:Quiz#3 Quiz Start T

Question # 2 of 10 ( Start time: 08:12:09 PM, 07 February 2021 )

i

3
1 )
fsingrr:d:r:z —‘E & Smﬂ}:
2|2 2
0

Select the correct option

m
O 2
m
4
m
O 3
3r
O 4

Click to Save Answ

03063548328 Sonu Ilyas Mughal



pa> )l ozl alll posy

s I g - wi T T T T S PR - I T 4
5128 sesci 28 (sde 151301 3 L5 o 9 15 oo s L5 oo ALl 55 2 oo llall s ol 3 gl

SONU TLYAS |
MUGHAL

SONU TLYAS |
MUGHAL
’

"MTH301 - Calculus IT

MTH301:Quiz#3 Quiz Start Time: 08:11

Question # 3 of 10 ( Start time: 08:12:41 PM, 07 February 2021 )

The curl operator, V x A, acts on a(an) and gives a vector as a result.

Select the correct option m

scalar

O

unit vector

vector

constant

Click to Save Answer & Mov
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MTH301:Quiz#3 Quiz Start

Question # 4 of 10 ( Start time: 08:13:18 PM, 07 February 2021)

Ifl = / Pdz + Qdy and (Pdz + Qdy) is an exact differentialthen

AE

Select the correct option

O I, —I,=0
__ I, +1I,=0
-

O I, xI.,=0
O I, +1I,=0

Click to Save Ans
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Question # 5 of 10 ( Start time: 08:13:40 PM, 07 February 2021)

MTH301:Quiz#3

Sign of line integral is reversed when the direction of integration along the path is reversed.

Download More Quizzes Files From

Select the correct option

True VUARNnswer.com

False
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MTH301:Quiz#3 Quiz Start Time:

Question # 6 of 10 ( Start ime: 08:14:02 PM, 07 February 2021 )

To eveluate a line integral, the integrand is expressed in terms of =, y, z with

Select the correct option l

dr = dzi + dyj + dzk

dr =xi + yj + zk

dr =dr + dy + dz

dr=z+y+z

O
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MTH301:Quiz#3 Quiz

Question # 8 of 10 ( Start time: 08:14:49 PM, 07 February 2021)
Line integral is used to calculate ———-

Select the correct option

force
O

area
O

volume
O

length
rF
e

Click to Sav
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MTH301:Quiz#3 Quiz ¢

Question # 9 of 10 ( Start time: 08:19:13 PM, 07 February 2021 )

Wallis sine formula when n is even

3
[ Sintzdr =

Select the correct option

4.2
O 5 3
3 1
(] P,
4 2 2
31
O 4 2
42 7
O 3 1 2

Click to Save
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MTH301:Quiz#3 Quiz Start Time: 0

Question # 10 of 10 ( Start time: 08:15:40 PM, 07 February 2021 )

For a line integral, if the path of integration is parallel to y - axis i.e.y = k, dy = 0 then

Download More Quizzes Files From

Select the correct optio
VUAnswer.com -
O / pdx =0

L

O /pdmz—/pd:r:

c c

r /Qdy:
('

[ ]

O [ bz~ [ Qay

c c

Click to Save Answer &
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Question # 7 of 10 ( Start time: 08:14:25 PM, 07 February 2021 )

MTH301:Quiz#3

Wallis sine formula when n is odd

m

£
[Sin?a:dm:
Select the correct option
6 4 2
@ (0 == =
- 7 5 3
7T 5 3 7«

O 75 3 2
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1) Lecture live on Zoom 1) Lecture live on Zoom

2) Written Lectures (pdf) . 2) Written Lectufes (pdf) .

3) Recorded Videos Activity, 8) Recorded Yideos Activity

4) Topic wise Notes Detailed 4) Topic wise Notes Detailed

5) Short QA Solved Information 5) Short QA Solved Information
6) MCQs Solved 6) MCQs Solved

7) Solved Past and Current paper 7) solved Past and Current paper

8) Solved Graded Activities 8) solved Graded Activities
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